Q

pr[GeV/e]  do/dpr [ mb /( GeV/c)] (Forward)

17.826 £ 0.433 £ 0.955 £ 1.808
12.218 +£0.104 £0.216 £ 1.177
6.259 £ 0.072 £ 0.074 £ 0.591
3.051 £0.027 £ 0.025 £ 0.283
1.576 £ 0.017 £ 0.017 £ 0.146
0.843 £0.012 £ 0.019 £ 0.079
0.476 £0.011 £ 0.010 £ 0.045
0.244 £ 0.006 £ 0.009 £ 0.023
0.147 £ 0.005 £ 0.004 £ 0.014
10, 11] 0.095 £ 0.003 £ 0.005 £ 0.009
[11,12] 0.059 £ 0.002 £ 0.002 £ 0.006
12,13] 0.034 £ 0.002 £ 0.001 £ 0.003
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pr[GeV/e]  do/dpr [ mb /( GeV/c )] (Backward)

20.196 £ 0.421 £ 0.975 & 2.700
12.163 + 0.119 + 0.196 + 1.490
5.729 + 0.050 £ 0.073 + 0.694
2.553 = 0.025 = 0.029 + 0.300
1.182 + 0.014 + 0.020 + 0.143
0.524 + 0.009 + 0.012 + 0.063
0.276 + 0.004 £ 0.005 + 0.031
0.153 + 0.004 £ 0.004 + 0.018
0.083 + 0.002 £ 0.003 + 0.011
10,11] 0.053 + 0.002 £ 0.003 + 0.007
[11,12] 0.029 + 0.001 4 0.001 + 0.003
12,13] 0.019 + 0.001 £ 0.001 + 0.002
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